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1(  �� ������ :      

( ) ( )121 +−+= xxxC     24    ؛ 4 3 3D x x= − +.  
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��د ا����	% ا�����% ����د )1       :80,027 10G −= ×.  

2( �  11    و    32:     )�رن ا���د�
3(  ����x و y)��	 ������� �3    :    ��د� 5x≤ 2  و  ≥ 1y− ≤ ≤ −  
x      :  ���   أ*" ��         y+       ؛          x y−              4   ؛xy−  
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                 ABC)��	 )�+� :  
  

                 AB AC و =6 BC و =3 3= )��   .)أ$-" ا�#
� أن ا��+�(  )1�	ABC �/ %12 ا�0او��(A.  

  

�ABCأ��3 ا�3�4 ا��+�+�% ��0او�%  )2 
 

.  

3(  ����H %5�4�� 7دي�ا�� ����ا� A 8��( )BC)��	 :  

         AH 2= .        3��  .BHأ
         

4(  ����aدة��  . )��س زاو�% 

): ���� أن           )
3

1
cos =a   ، 3��): أ )asin و ( )atan.  

5( �� �� 3��)    : �أ ) ( ) ( ) ( )382cos60sin522cos30cos +−+.  

  �?�$�" ا�                                         ��اد�% ا�<"/%     ا=+�$�7% ا�
��   �تـــــــــا�"���D : �دة  ـــــــــــ�                                                           2011 ��ــ��ا� ا=����ن ا��7
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                  ABC)��	 )�+�   :   AB 4cm=،AC 6cm= وBC 5cm=.  
  

                ����    E %�5ا�� �� %5�$ [ ]BC)��	  :  

.  
 

                    �) و ا��7ازي �������E 1ا������1 ا���ر � )AB 1�����ا� J5�� ( )AC �/ F.  
  

1( ��   .أ$#K ا�#
  

2(  3��  .EF و CFأ
  

3(  ����M 1�����ا� L?$ �� %5�$ [ )AB)��	 :AM 6cm=   
  

%5�$ �� $?L ا������E 1و            [ )AC  )��	:AN 9cm= .  
  

� أن         �	  :( ) ( )BC // MN.  
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MN$�� ��  :                   $��N" ا�#
  

                  )���MAN:  أن 40°=  :  
  

                  3�� �MON و �MBN:  أ
  

  
  

     
    


